O ONE CAN DENY THAT
there are net gains from free
trade(FT).If the most efficient
producersare providedaccess
without artificial restrictions
(political boundaries),itwould optimise the
costs fora given level of consumption.
But,howthose gainsaredistributedisan
unsettled question. We can have examples
of countries losing out due to FT and others
gaining at their expense. It is not even diffi-
culttofind examples of just one countrygar-
neringallthe gainsandall the otherslosing.
Itisalso possible that some gainer(s) gain
disproportionately from free trade than oth-
ers (making the diminished gain a loss).
Unless a country is careful about what to
avoid, it may end upaheavyloser.
Anillustration of this (see graphic) seeks
tobreakup the supplycurvein thestandard
demand-supply analysis of microeconom-
ics. The supplying units are arranged from
the mostefficient toleast efficient fromleft
to right. Efficiency is measured by how low
the total variable cost is. The thickridge line
running over the top of various bars repre-
senting individual units comprises the sup-
ply curve. Those to the left of where the
demand-curve meets the supply-curve get
to supply the market. Those to the right will
incur losses since market-price is less than
their variable cost. This illustration studies
theimpact ofremoval of import duties after
FTAs. After removal of import duties, the
supply curveaccommodates more overseas
players to the left and pushes out some
domestic suppliers to the right of equilib-
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rium pricing which thus face closure.

The net impact (the ‘before’and ‘after’
scenarios) in the illustration is as follows:

m The government has lost whatever
import duties it was getting from suppliers
already competitive in the market. The
entireamount accrued to these suppliers.

m The domestic consumers have bene-
fited froma pricereduction ofless than 1%.
Thisis mostlikely frombetterefficiencies of
the overseas suppliers.

mThereisanetlossin domesticemploy-
ment (9%) translating into better employ-
ment or capacity utilisation overseas.

This kind of relatively flat demand or
supply curves prevail in commodity indus-
trieswhere consumers don’t pay much pre-
miums for brand and supply efficiencies
come from factor cost differences, scale

economies, cheap labour, patents, etc.

Larger concentration of capacities
enabled byFT facilitates mechanisationand
resultsin netloss of employment.These net
losses in employment have also to be dis-
tributed,and one can end up with a dispro-
portionate share of this unemployment as
in the above case where the host country
ends upwith all the employment loss.

One of the methods oft-used by trade
economists to identify industries with
export or import competitiveness is the
Revealed Comparative Advantage (RCA)and
its variants. Essentially, this method calcu-
lates the ratio of (i) % of a particular com-
modityinacountry’s exports to(ii) the % of
global exports of the commodity in world
exports.If the ratio ismore than 1,then the
country is supposedly export competitive.
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Instead of global %, one may use specific
country %, regional %, or host country’s %,
toidentifyexportcompetitiveness orimport
vulnerabilities.
But,itisterriblyreliantonthe past. What
isimportant is the current competitiveness
in an ever dynamic world, where the steep
pricefluctuationsinsomekeyinputslikeoil,
metals, interest rates, etc, can vastly change
the fate of several players’ competitiveness.
As can be seen from the illustration, the
unitsaround the equilibrium price—maybe
20-30% on either side—would largely
decide the gains or losses from trade. Units
which are highly competitive (left-most) or
least competitive (right-most ones) will
hardly matter. For example, ASEAN units,
despite a duty reduction, do not enter the
Indian market.There maynotbe much gain
in negotiating access in such a commodity
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ifweare ina similar situation.

In the case of Regional Comprehensive
Economic Partnership (RCEP), this kind of
analysis should be done for commodities
where we have some strength and wherewe
would like toinvite competition. Usingelas-
ticities alone may not suffice as much
depends on capacities of individual players
around the equilibrium price. ASEAN FTA
hasnotresulted in much gain orloss overthe
five years since it has been in full operation.

Many Chinese commodity players have
huge capacities—in some cases, a single
unit/player has enough capacity to supply
the entire Indian market.If an import facil-
itating measure or cut in duties make them
competitive in India, then the entire Indian
domesticmanufacturing can getwiped out,
resulting in loss of employment.

India’s strength is its low-cost labour,
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largely untrained and low-skilled. In most
manufacturing units, thewagesaccount for
8-12% of the cost and even this proportion
is dwindling by the day. Even 30-40%
cheaper labour translates to only a 3-5%
overall advantage, not even sufficient to
counter high real interest rates. But, where
wages constitute 40-509%,like in many ser-
vices—IT, design, etc—30-40% cheaper
labour can givea 10-20% advantage.These
arealsoless capital-and machine-intensive,
and interest rates have alower impact.
India’s negotiation in trade agreements
has not been stellar. Opening up manufac-
turing without proper impact assessment
might prove disastrous with RCEP. Even if
services are negotiated well, it will open up
opportunities for the highly skilled, but the
low-skilled labour, newly transferred from
agriculture, maybeleftin the lurch.



